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B.A. Honours PART-II Examinations, 2018
PHILOSOPHY-HONOURS

PAPER- PHIA-III

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. fEF AT SKE FRIYIMG 7 e e 1
Carndidates should answer in their own words AT [T 1T TR FET NFINNA T
and adhere to the word limit as practicable. Geq P!

All symbols are of usual significance.

Answer Question No. 1 and any five from the rest
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1. Answer any five questions within 150 words each from the following: 5x5=25
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(a) Opinions or beliefs may be true or false, Knowledge can only be True—
Plato. Explain in the light of this statement, the distinction between

Knowledge and Opinions.
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(b) How many kinds / types of ideas are accepted by Descartes? Explain in
brief.
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(c) Explain in brief, Descartes’ Ontological Argument for the existence of God.
Discuss in this connection whether existence is a predicate of God.
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(d) Explain the relation between God and the world, according to Spinoza.
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(e) Locke has rejected the existence of innate ideas on several grounds. Explain
any two of these arguments in brief.
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(f) How does Hume distinguish between knowledge concerning relation of
ideas and knowledge concerning matters of fact? Discuss briefly.
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(g) Briefly discuss Hume’s scepticism.
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(h) Does Berkeley’s subjective idealism lead him to solipsism? — Explain.
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What is the law of sufficient reason? If everything has sufficient reason for
its existence, how would you explain the contingent truth of experience?
Discuss after Leibnitz.
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How does Kant distinguish between Analytic and Synthetic judgements?
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Answer any five questions within 600 words each from the following 15x5=175
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Discuss ‘Plato’s theory of Knowledge’. 15
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How does Descartes’ arrive at Cogito? Is this principle an enthymeme? Can 6+3+6

- it be regarded as the foundation of his philosophy?
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‘God is all and all is God” — What does Spinoza mean to say by this 15
statement?
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What is pre-established Harmony, according to Leibnitz? Can it adequately 9+6
account for the relation of one to many? Discuss. -
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What is meant by ‘representative realism’? How does Locke establish his 5+10
theory of representative realism? Explain critically.
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On what grounds, Hume has rejected necessary relation between cause and 15
effect? — Discuss. ' '
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10.

11.
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How does Hume distinguish between impressions and ideas? How does he
argue to establish that all ideas are copies of some impression? Do you think
this thesis to be tenable?
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Why does Kant claim to have brought about Copernican revolution in
philosophy? Is this claim justified?
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Explain in detail, how Leibnitz distinguish between necessary truths of
reason and contingent truths of fact.
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Distinguish, after Kant, between a-priori and a-posteriori judgements. How
are Synthetic-a-priori judgements possible?
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